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1 Write a descriptive answer : (any one) 10

(1) What is International Organisation ? Explain its
structure and work.
OR
(2) Explain the meaning of social security and explain

the objectives of it.

2 Write a descriptive answer : (any one) 10
(1) Explain Industrial Dispute Act — 1926.
OR
(2) Explain Contract Labour Act — 1970.

3 Write a descriptive answer : (any one) 10
(1) Explain Trade Union Act — 1926.
OR
(2) Explain Maternity Benefit Act — 1961.
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4 Short notes : (five out of seven) 25

(1)

@)
(3)
(4)
()
(6)
()

Explain the meaning of labour policy and give
its principles.

Explain Factory Act — 1948.

Explain Payment of Bonus Act — 1965.
Explain Workman's Compensation Act — 1923.
Explain Payment of Wages Act — 1948.
Explain the Social Security and Development.

Payment of Graduity Act — 1972.

5 Short notes : (five out of seven) 15

(1)
2)
3)
(4)
(5)
(6)
()

Who is Labour ?

Explain the types of inability.

Who is labour in the field of NGO ?

What is Lay-off ?

What is Industrial Dispute ?

Explain the Graduity calculation formulation.

Define the Social Security.
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